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1 AR PR —ER

(7 - T)

R BT AN 46 4 R
T Mkt TR Wikt | ((A—B)/B)

235 (A) (%) (B) (%) X100 (%)
- i e Ei 4, 315, 561 99. 92 3, 696, 661 99.91 16. 74

AR 5B & L AR 3 4

s 5 £ 2t 3, b63 0. 08 3, b02 0. 09 1.74
a it 4, 319, 124 100. 00 3, 700, 163 100. 00 16. 73




2 RRE TR R
(% A) (BN TH)
] SR T AR S 6 R s
THEE &A% b THEAE &Rk L {((A—B)/B}
Bl (A) (%) (B) (%) X100 (%)
1|5 #H & kK X & #8 & 3, 424, 971 79. 36 3, 215, 201 86. 98 6.52
21 i H B & O F OB 168, 540 3.91 168, 470 4. 56 0. 04
3 Je. 53 H & 23,239 0.54 6, 283 0.17 269. 87
41 IR 53 H & 6,077 0.14 6, 075 0.16 0.03
5| W PE 1 A 1,387 0.03 137 0. 00 912. 41
6| # A 4 313, 449 7.26 166, 953 4.52 87.75
7| A el 4> 12, 250 0.28 12, 250 0.33 0. 00
8| & 1% A 57, 748 1.34 54, 492 1.47 5.98
9| #H = 18 307, 900 7.14 66, 800 1.81 360. 93
% A s 3 4, 315, 561 100. 00 3, 696, 661 100. 00 16. 74




Ok ) (BN TH)
] SR T HEpE S 6 R i
THEE &A% bt THEAAE &Rk L {((A—B)/B}
Bl (A) (%) (B) (%) X100 (%)

1| &% S 2 1, 267 0.03 1,277 0.03 A 0.78
2| #& % # 163, 308 3.78 149, 602 4. 05 9.16
3| f# A L2 1, 635, 652 37.90 1,478, 370 39.99 10. 64
41 ™ 193] # 2,178, 820 50. 49 1,742, 629 47. 14 25. 03
51 A 1& # 326, 514 7.57 314, 783 8.52 3.73
6 F i # 10, 000 0.23 10, 000 0.27 0. 00
% H s 3 4,315, 561 100. 00 3, 696, 661 100. 00 16. 74




3 —REFEFTEMER-REK

(HA7 2 TH)
] SR T AR S 6 R s
THEE MRk THEAE &Rk L {(A—B)/B}
PRI (A) (%) (B) (%) X100 (%)

1 A as 2 1, 730, 836 40. 11 1, 596, 331 43.18 8. 43
21 W 4 # 1, 346, 881 31. 21 1,307, 743 35. 38 2.99
3| HE Ff il & # 7, 206 0.16 11, 275 0. 30 A 36.09
4| ¥ B i 32, 940 0.76 24, 810 0.67 32. 77
51 #f B 2 A 436, 169 10. 11 324, 593 8. 78 34. 37
6| & W B K OF X K 423, 658 9. 82 107,019 2.90 295. 87
RN & b 326, 514 7.57 314, 783 8. 52 3.73
8| & AV N 1, 357 0.03 107 0. 00 1, 168. 22
9| ¥ firg b= 10, 000 0.23 10, 000 0.27 0. 00
I3 H s 3 4, 315, 561 100. 00 3, 696, 661 100. 00 16. 74




4 HEAMESD S ETHETATE RSN SEH TEAR — & X
(% A) (HA7 : TH)
R AR T AR A F 6 4R il =R
TREEE LAD THEEE R {(A—B)/B}
Sl (A) (%) (B) (%) X100 (%)
1| B PE )% A 3, 262 91.55 3, 201 91. 40 1.91
2| A 4 300 8. 42 300 8.57 0. 00
3| & I A 1 0.03 1 0.03 0. 00
I3 A s 3 3, 563 100. 00 3, 502 100. 00 1.74
Ok HD) (HA7 : TH)
R AR T AR AT 6 AR fih ==
TR in e TR iRkt {(A—B)/B}
Bl (A) (%) (B) (%) X100 (%)
1] # % # 3,411 95. 73 3,411 97. 40 0. 00
2| F i # 152 4,27 91 2. 60 67.03
% ] a 2t 3, 563 100. 00 3, 502 100. 00 1.74




WA 52 & & iR B ISR A E TR E ] —ER

(BN TH)

R BT R 416 4z s
TR R TR R {(A—B)/B}

| (A) (%) (B) (%) X100 (%)
Wy A # 7 0. 20 7 0. 20 0. 00
Tl Bh #* At 3, 403 95. 51 3, 403 97. 17 0. 00
féh H 4 1 0.03 1 0.03 0. 00
S i #H 152 4.27 91 2. 60 67. 03
s = 3 3, 563 100. 01 3, 502 100. 00 1. 74




